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1 |For Emitter Stabilized Bias circuit Vec = 10V, Rc = 1kQ, Rg = 500Q, 10 [CO1| L3
Rg = 100kQ, B = 100. Calculate Ig, Ic, Vcg, Ve and Ve.
2 |Design a Voltage Divider Bias circuit for the given conditions. I = 1mA, 10 |CO1| L3
SICO = 20, B = 100, Ve=1V, Ve = 6V and Ve = 12V.
3 |Derive the expression for stability factor S(I-;) and S(Vzz) for Emitter Bias| 10 |[CO1l| L3
configuration
4 |Determine the stability factor 5(Vzz) and the change in I from 25°C to 100°C for], 10 |CO1| L3
the transistor with Vg (25°C) = 0.65V and V5 (100°C) = 0.48V for the
following bias arrangements
a) Fixed Bias with Ry = 270k and ff = 120
b) Voltage Divider Bias with B, = 39k, R, = 10kf2, R; = 1k and § = 120
S |Derive the expression for stability factor S(I.5), S(Vzz) and S(3)for Fixed Biasy 10 |CO1| L3
configuration
6 |For the transistor inverter shown, determine the values of Rz and R.. Take 10 |CO1| L3
Ie(saey = 12mA, =200 and Vig...y = 0V. Also draw the output voltage
waveform.
v 12V
‘ | i
12V
ﬂ . ' |—-——0VC
Rp
" D——\N\/\/{
7 What is Clamping circuits? Draw the circuit and output waveforms for Negative | 10 |[CO1| L1
Clamper and Positive Clamper.
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Stability Factor S(V)
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Stability Factor S(l),

S(leg) or S = 9% at constant Vge and B
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Stability Factor S(V)

L) o e
(Vi) = 557

Vcc 2 laRa’+ Vu‘

Vu = Vcc"lnkl
Ic

B

V_ .-

/
Vee = Vex _pg'Ro

But [, =

Differentiating with respect to V., keeping f constant, we get

1 = 0- 2t

al,

70 Ard 2,

Lok Tp = 1504 oF Tp gusy (2 ensure capesansn]

:/-f(éoﬂ#/) -~ oM H -

Lo~ Vi=Vep. . 12V-070 o j2C (XA

LI

—




« A clamping circuit is a circuit that shifts an AC waveform
(up or down) to a different DC level.

« Also known as a level shifter.

« The input and output waveforms have identical shapes,
only the DC level is different.

A\
/1

+ C o X |
I,;@ 3} V\ ——

0 \/ U Clamper

— Time,t _>
Input signa (a) Positive clamping

o)

NS it isseis i :
: L awal '
v ,9 * v, ' S| el A BEIIN
oT & VAV,
% / — TIME e - g X




